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QUESTION 1

Review the following output from the zpool status command:

Which three are true for pooll?

A. It this mirror is split, the new pool will contain disks c3t5d0 and ¢3t6d0.

B. If this mirror is split, by default the new pool will contain disks ¢3t3d0 and c3t5d0.
C. Data is striped across mirror-0 and mirror-1.

D. mirror-1 is a mirrored copy of data that is stored on mirror-0.

E. Disk c3t3d0 is a mirrored copy of disk c3c4d0.

F. If this mirror is split, pooll will no longer be mirrored.

Correct Answer: BDE

QUESTION 2

What is true about crash dump configuration?

A. The minfree value can be to protect a percentage of available disk space.
B. The default size of the dump device is configurable.

C. You can use one ZFS volume for both swap and dump.

D. You can set quota on a ZFS dump device.

E. When set on the dump device, the minfree value sets the total size of the dump device to be a percentage of the total
size of the root pool.

Correct Answer: C
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QUESTION 3

Your organization uses NFS to share data from Oracle Solaris servers to Oracle Solaris clients. The server currently has

an NFS share configured for the rpool/export/data file system. A client is currently mounting this file system. As
administrator, you add a new file system rpool/export/data/yesterdays_data, and copy data into the new file system.
Which action is required for the client currently mounting the rpool/expor/data file system to access the new data?

A. The rpool/export/data/yesterdays_data file system must be mounted.
B. No action is required because the data is automatically made available.
C. The rpool/export/data file system must be remounted.

D. The nfs/client server must be restarted.

Correct Answer: C

QUESTION 4

Which two statements are correct regarding IPS repositories?

A. Remote client access is governed by svc:/application/pkg/server.
B. Every new repository contains the solaris publisher by default.

C. One repository can replicate the contents of another.

D. The pkg.depotd process makes all local repositories remotely available.

E. A repository uses separate protocols for pkg and browser clients.

Correct Answer: CE

QUESTION 5

What are targets for IPMP probe-based failure detection configured by?
A. responses to SNMP requests

B. specifying host routes in the routing table

C. specifying hosts in /etc/default/mpathd

D. setting the property svc:/network/ipmp/config/transitive-probing

Correct Answer: B
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